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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Consumer equilibrium. Discuss consumer‘s 

equilibrium with the help of Indifference Curve 

analysis.  

miHkksDrk lUrqyu dks ifjHkkf”kr dhft,A mnklhurk 

¼rVLFkrk½ oØ fo’ys”k.k dh lgk;rk ls miHkksDrk ds 

lUrqyu dh foospuk dhft,A 

2. What do you understand by the concept of ‗return to 

scale‘ ? Explain ‗Increasing returns to scale‘, ‗constant 

returns to scale‘ and ‗decreasing returns to scale‘. 

^iSekus ds izfrQy* dh vo/kkj.kk ls vki D;k le>rs gSa \ 

^iSekus ds c<+rs gq, izfrQy*] ^iSekus ds fLFkj izfrQy* rFkk 

^iSekus ds ?kVrs gq, izfrQy* dh O;k[;k dhft,A 

3. What are the characteristics of perfect competition ? 

Explain how price is determined under perfect 

competition in the short period and long period ? 

iw.kZ izfr;ksfxrk dh fo’ks”krk,¡ dkSu&lh gSa \ iw.kZ izfr;ksfxrk 

ds vUrxZr vYidky vkSj nh?kZdky esa dher&fu/kkZj.k dSls 

gksrk gS \ O;k[;k dhft,A 

4. Critically explain the Ricardian theory of Rent. 

fjdkMksZ ds yxku fl)kUr dh vkykspukRed O;k[;k  

dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the main methods of measurement of 

National Income ? 

jk”Vªh; vk; dks ekius dh eq[; fof/k;k¡ dkSu&lh gSa \ 

2. Discuss the important factors determining demand. 

ek¡x dks fu/kkZfjr djus okys egŸoiw.kZ dkjdksa dks le>kb;sA 

3. Explain the degrees of ‗Price Elasticity of Demand‘. 

^ek¡x dh dher yksp* dh Jsf.k;ksa dh O;k[;k dhft,A 

4. Differentiate between fixed cost and variable cost. 

fLFkj ykxr vkSj ifjorZu’khy ykxr esa vUrj Li”V dhft,A 

5. Critically explain the marginal productivity theory of 

distribution. 

forj.k ds lhekUr mRikndrk fl)kUr dh vkykspukRed 

O;k[;k dhft,A 

6. Distinguish between Market Price and Normal Price. 

cktkj ewY; vkSj lkekU; ewY; esa vUrj dhft,A 
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7. Explain liquidity preference theory of interest. 

C;kt ds rjyrk vf/keku fl)kUr dks le>kb;sA 

8. Discuss the uncertainty bearing theory of interest. 

ykHk ds vfuf’prrk ogu fl)kUr dh foospuk dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False against the following : 

fuEufyf[kr ds lkeus lR; ;k vlR; fyf[k, % 

1. The theory of interest is associated with dynamic 

economics. 

C;kt dk fl)kUr izkoSfxd vFkZ’kkL= ls lEcfU/kr gSA 

2. The utility can be measured in monetary terms. 

rqf”Vxq.k dks eqnzk ds :i esa ekik tk ldrk gSA 

3. Indifference curve can be parallel to X-axis. 

rVLFkrk oØ X-v{k ds lekukUrj gks ldrk gSA 

4. The law of diminishing returns is a logical necessity. 

mRifŸk kl fu;e ,d rdZlaxr vfuok;Zrk gSA 
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5. Marginal costs curves cut the Average Cost curve at its 

lawest point. 

lhekUr ykxr js[kk vkSlr ykxr js[kk dks blds U;wure 

fcUnq ij dkVrh gSA 

6. If demand curve is parallel to X-axis, it shows 

elasticity equal to zero. 

;fn ek¡x oØ X-v{k ds lekukUrj gS] rks ;g ‘kwU; ds 

cjkcj yksp dks iznf’kZr djrk gSA 

7. The demand for labour is derived demand.  

Je dh ek¡x O;qRiUu ek¡x gksrh gSA 

8. Rent can be zero but cannot be negative. 

yxku ‘kwU; gks ldrk gS fdUrq _.kkRed ugha gks ldrk gSA 

9. Wage fund theory was given by Adam Smith. 

etnwjh dks”k fl)kUr dk izfriknu ,Me fLeFk ds }kjk fd;k 

x;kA 

10. Marginal revenue is less than Average revenue in 

monopolistic competition. 

,dkf/kd`r izfr;ksfxrk esa lhekUr vkxe vkSlr vkxe ls de 

jgrk gSA 
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